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FORM 00





Parts 2 and 3.  Write your answers in the space provided on the test paper.  This part of the test should be written in ink.  Only papers written in ink, and not using white-out, will be considered for remarking.  Papers must be submitted before leaving class on the day that they are returned to be considered for remarking.  Papers will be remarked in total.  The mark may go up, go down, or remain the same.   





Problem.  Show and label all calculations to obtain maximum marks.  





Mini-case.  Your recommendation(s) must be in keeping with GAAP.
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PART 1.	 (20 marks)	





Select the best answer for each of the following independent questions.








1.	A soundly developed conceptual framework of concepts and objectives should





	a.	increase financial statement users’ understanding of and confidence in 			financial reporting.





	b.	enhance comparability among companies’ financial statements.





	c.	allow new and emerging practical problems to be more quickly 				solvable.





	d.	all of the above





	e.	none of the above








2.	The quality of information that gives assurance that it is reasonably free of error 	and bias and is faithful representation is





	a.	relevance


	


	b.	reliability





	c.	verifiability





	d.	neutrality





	e.	none of the above








3.	The characteristic that is demonstrated when a high degree of consensus can 	be secured among independent measurers using the same measurement 	methods is





	a.	relevance





	b.	reliability





	c.	verifiability





	d.	neutrality





	e.	none of the above





�
4.	In classifying the elements of financial statements, the primary distinction 	between revenues and gains is





	a.	the materiality of the amounts involved





	b.	the likelihood that the transactions involved will recur in the future





	c.	the nature of the activities that gave rise to the transactions involved





	d.	the costs versus the benefits of the alternative methods of disclosing the 			transactions involved.





	e.	none of the above








5.	Conventionally, accountants measure income 





	a.	by applying a value-added concept





	b.	by using a transaction approach





	c.	as a change in the value of shareholder’s equity





	d.	as a change in the purchasing power of shareholders’ equity





	e.	none of the above








6.	Which one of the following types of losses is excluded from the determination of 	net income in income statements?





	a.	Material losses resulting from transactions in the company’s investment 			account





	b.	Material losses resulting from unusual sales of assets not acquired for 			resale





	c.	Material losses resulting from write-down of capital assets





	d.	Material losses resulting from correction of errors related to the previous 			year.





	e.	None of the above





�
7.	Which of the following is required disclosure in the income statement when 	reporting a change in accounting policy?





	a.	A per-share amount of the cumulative effect of the change





	b.	The cumulative effect on prior years, net of tax





	c.	The cumulative effect should be disclosed immediately after 				extraordinary items





	d.	All of the above





	e.	None of the above








8.	Income taxes are allocated to


	


	a.	the cumulative effect of a change in accounting policy





	b.	extraordinary items





	c.	correction of an error from a prior year





	d.	all of the above





	e.	none of the above	








9.	The entry to accrue a loss contingency would 





	a.	debit an estimated loss and credit an estimated liability.





	b.	debit an estimated loss and credit an asset.





	c.	debit an asset and credit an estimated liability.





	d.	all of the above





	e.	none of the above








�
10.	A Cash Over and Short account





	a.	is generally not accepted.





	b.	is debited when the petty cash fund proves out over.





	c.	is debited when the petty cash fund proves out short.





	d.	is a contra account to Cash.





	e.	none of the above.








11.	If a company employs the gross method of recording accounts receivable from 	customers, then sales discounts taken should be





	a.	reported as a deduction from sales in the income statement.





	b.	reported as an item of other expense.





	c.	reported as a deduction from accounts receivable in determining the 			net realizable value of accounts receivable.





	d.	reported as sales discounts forfeited in the cost of goods sold section of 			the income statement.





	e.	none of the above.











12.	On December 31, 1996, Tipoff Corporation sold for $30,000 an old machine 	having an original cost of $70,000 and a book value of $20,000.  The terms of the 	sale were as follows:





		$10,000 down payment


		$10,000 payable on December 31, each of the next two years.





	The agreement of sale made no mention of interest; however, 9% would be a 	fair rate for this type of transaction.  What should be the amount of the notes 	receivable net of unamortized discount on December 31, 1996 rounded to the 	nearest dollar?





	a.	$17,591





	b.	$27,591





	c.	$20,000





	d.	$35,182





	e.	None of the above





13.	On the December 31, 1996 balance sheet of Mann Co., the current receivables 	consisted on the following:





		Trade accounts receivable				$  93,000


		Allowance for doubtful accounts			    (2,000)


		Claim against shipper for goods lost in transit


			(November, 1996)				     3,000


		Selling price of unsold goods sent by Mann on


			consignment at 130% of cost (not 


			included in Mann’s ending inventory)	    26,000


		Inventories						    30,000








		TOTAL							$150,000





	At December 31, 1996, the correct total of Mann’s current net receivables was





	a.	$94,000





	b.	$120,000





	c.	$124,000





	d.	$150,000





	e.	None of the above








14.	In computing earnings per share , if the preferred shares are cumulative, the 	amount that should be deducted as an adjustment to the numerator (earnings) 	is the





	a.	preferred dividends in arrears





	b.	preferred dividends in arrears times (one minus the tax rate)





	c.	annual preferred dividend times (one minus the tax rate)





	d.	cannot determine with information given





	e.	none of the above








�
15.	In computations of weighted-average number of shares outstanding, when a 	stock dividend or stock split occurs, the additional shares are





	a.	weighted by the number of days outstanding





	b.	weighted by the number of months outstanding





	c.	considered outstanding at the beginning of the year





	d.	considered outstanding at the beginning of the earliest year reported.	





	e.	none of the above








16.	Dion Corp. had 500,000 common shares issued and outstanding at December 	31, 1995.  During 1996, no additional common shares were issued.  On January 1, 	1996 Dion issued 400,000 nonconvertible preferred shares.  During 1996 Dion 	declared and paid $150,000 cash dividends on the common shares and 	$125,000 on the preferred shares.  Net income for the year ended December 31, 	1996 was $800,000.  What should be Dion’s 1996 earnings per share, rounded to 	the nearest penny?





	a.	$0.75





	b.	$1.05





	c.	$1.35





	d.	$1.60





	e.	none of the above








17.	Cartier Corp.’s trademark was licensed to Jabot Cosmetics for royalties of 15% of sales of the trademarked items.  Royalties are payable semiannually on March 15 for sales in July through December of the prior year, and on September 15 for sales in January through June of the same year.  Cartier received the following royalties from Jabot:





�
MARCH 15�
SEPT. 15�
�
1996�
$5,000�
$7,500�
�
1997�
6,000�
8,500�
�



Jabot estimated that sales of the trademarked items would total $30,000 for July through December 1997.  In Cartier’s 1997 income statement, the royalty revenue should be





$13,000





$14,500





$19,000





$20,000


None of the above


18.	Spectra Fashions, with an applicable income tax rate of 30%, reported net income of $175,000.  Included in income for the period was an extraordinary loss from flood damages of $30,000 before deducting the related tax effect.  The company’s income before income taxes and extraordinary items was





$205,000





$250,000





$280,000





$196,000





none of the above








THE FOLLOWING INFORMATION RELATES TO QUESTIONS 19 AND 20.





	The following information is taken from the transactions trial balance of Rudolph Corp.





ACCOUNT�
DEBIT�
CREDIT�
�
Sales�
�
$472,000�
�
Sales returns and allowances�
$14,000�
�
�
Accounts receivable�
43,000�
�
�
Allowance for doubtful accounts�
�
850�
�






19.	If the estimate of uncollectibles is made by taking 1% of net sales, the amount of the adjustment is





$3,730





$4,580





$4,720





$5,430





none of the above	








20.      If the estimate of uncollectibles is made by taking 10% of gross accounts receivable, the       amount of the adjustment is





$3,450





$4,300





$4,365





$5,150





none of the above





�
PART 2.  (10 marks)





A..





When Phillip Chancellor died, he left his wife, Catherine, an insurance policy contract that permitted her to choose any one of the following three options:





$55,000 immediate cash.


$3,700 every three months, payable at the end of each three –month period for five years.


$20,000 immediate cash and $1,500 every three months for 10 years, payable at the beginning of each three-month period.





Required:  If the interest rate is 10%, which option will you recommend that Catherine choose?  (Show ALL calculations and draw time lines.  Indicate which table(s) you used.)


�
�
B.





On January 1, 1998 Newman Enterprises initiated a pension plan under which each of its employees will receive a pension annuity of $1,000 per year for eight years.  The payments begin one year after retirement.  Employee A will retire at the end of 2004.





Required:  Determine the present value of Newman’s pension obligation for Employee A if the interest rate is 10%.  (Show ALL calculations and draw a time line.  Indicate which table(s) you used.)





�
PART 3.  (10 marks)





This morning on the Go train you overheard the following conversation:








Him:	“My boss is concerned that earnings are going to be less than the market expects.  He just bought a new house on the Bridle Path and I think he was counting on his bonus to pay off a big part of his mortgage.  I gather the mortgage payments are a financial burden.





	He asked me to come up with some ideas that would increase revenues or reduce costs.  Can I get your opinion on some ideas I came up with?”





Her:	“Sure.  What have you got for him?”





Him:	“Well, we lost about a million dollars because of the strike last year.  The union wouldn’t back down and it was a long, ugly battle.  I am going to suggest that we classify this as an extraordinary item.  At least that will pump up EPS before extraordinary items.”





Her:	“That was a rather extraordinary strike.  I think you are right to go for it.  What else did you come up with?”





Him:	“We just found out our company is actually being sued by the former VP – Marketing.  Would you believe he is suing for 5 years’ salary plus bonuses?  That is close to $1.2 million.  He was fired late last year.  I can’t understand why they let him go.  I thought he was a great guy.  I think the president just didn’t like him.  The marketing department has become totally dysfunctional since he left.  In any case, since we were served with the papers just last week, I think we can push it off to this year.  I know management is concerned about this.  I get the feeling they think we will lose the case.”





Her:	“I don’t know – he was fired last year.  Suggest it to your boss and see what he thinks.”





Him:	“I wonder if we could change the estimated lives of any of our assets.  That would reduce depreciation expense, perhaps by a significant amount if we really stretched it.  Our fleet of trucks is well maintained.  They trade them in every 5 years, but I bet they could keep them for up to 7 or 8 years.  Who cares if they are old if they are in good running order.”





Her:	“But would they keep them longer – that is the question?  If they would, I don’t see why not.”





Him:	“I know they have never kept a vehicle beyond the 5 years, but they could consider doing it.  Well, here we are at Union Station.  Do you want to stop for a coffee before we head off to work?”





Her:	“Sure.”





You were on your way to a new client, Kingsman Transport.  When you got there, the receptionist asked you to have a seat (the accounting manager had not arrived yet.)  She offered you a coffee and the Globe.  You were just reading an article about the OSC’s concerns over flexible accounting standards when you heard the receptionist say, “Oh, John, the auditor is here.”  To your surprise, when you looked up guess who you saw –  the man from the Go train.





Required:	Assume the role of auditor.  Analyse the case.  Refer to GAAP.  Your recommendation must be consistent with your FRO and conform to GAAP.


























�
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